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(B 11 Listen to the passage and answer the following questions, This section has two parts.
{1) For questions No.l and No.2, choose the best answer from the choices provided and circle 7, «,
7 or T.

(2) For questions No.3, No.4 and No.5, choose the statements that best describe what each person says
and circle 7, 4, ™, T, 4 or H.

(7 The company’s TV ads need fixing to boost revenues.

TV ads have a significant impact on store sales.

Funds could be shifted from TV ads to improve online ordering.

Fewer TV ads resulted in a drop in in-store purchases.

Improvements to online ordering systems should include smartphones.
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An increase in smartphone ordering might suppress online orders.

(M2]) Answer the following questions, Choose the best answer from the choices provided to complete
the sentences. Answer using the characters 7~I.
(1) ( At school }
A: What should I do?
B:Ie1( ) you, | would ask my best friend to help me.
( 7 am A were 2 been T have been ]

2 ( At home )
A You said that you would never be late, right?

B: Yes. You ( ) my word.
A: Alright. [ trust you.
( 7 have 1 give 7 need I promise ]

3} ( In the kitchen )
A: The lid is too tight. [ can’t open it.
B: ( ' ) me try?
( 7 Don’t you want 4 Will 1 make 7 Do you force T Will you let )

(B3] Read the following essay and answer the questions in English.




(Tan Ying Zhen, "Zero waste,” The Japan Times ST 26 January, 2018)

(1) What did Bea Johnson want to say the most about a zero-waste lifestyle in her talk? Write your
answer using the characters 7~I.
7 You should take out a lot of trash which you don’t need.
-4 You should increase your belongings to save time and money.
=7 You should use your time and resources appropriately.
I You should follow 5R’st Refuse, Reduce, Reuse, Recycle and Rot.

(2} Please write about a time when you lost your motivation and how you overcame the situation. Use

more than 30 words.

{3) According to the passage, why did the writer decide to try the zero—waste lifestyle again? Choose
the best answer using the characters 7~x.
7 Because she returned to her old habits of purchasing packaged goods.
4 Because she succeeded in reducing the amount of waste she produced.
©7 Because she produced her ideal amount of trash.
I Because she noticed she could change her lifestyle little by little.

{4} Write the suitable word from the passage in each blank.

@ The word “( ” means “based on or calculated over a period of one year.” For example,
“The economy was growing at an ( ) rate of 7 percent.”

@ The definition of ( ) is “the things needed for writing, such as paper, pens, pencils, and
envelopes.” Things like, “I got these folders at the ( ) store.”

® To make certain that something will happen properly is to ( " ). An example is “The hospital
tries to ( ) that people are seen quickly.”

@ To let someone do or have something, or let something happen is to { ). As in, “Most
colleges will ( ) students to change their subject choices in the early weeks of an academic
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(M4) Read the following passage and answer each of the questions.

! (H.G.Widdowson (1996) Linguistics Oxford University Press)

(1) Choose the best answer from the twelve alternatives below for the blanks { @ ), ( @ ) and
( ® ) in the passage. Write your answer using the characters 7~%. You can use each answer

only once.
7 candidate < representative 7 delegate I example
4 tell H say F teach 4 talk

4 Internets a3 mobiles 4 telephones 4 telegrams
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(2} Read the first part of the sentence below and choose the best answer from the four alternatives to
complete the sentence. Write your answer using the characters 7~x.
@ According to the passage, why we can assemble the collection of words to make sense is
7 because we cannot tell the grammar from its spelling,
4 because we have no signs to identify words.
r7 because we can recognize the grammar of each word.
I because there is no other verb.

® According to the passage, we can identify the word order like ‘gothic church’ because we have
a recognition such as
[ 7 an object precedes a verb. 4 an adjective precedes a noun. ]
¥y a noun precedes an adjective. T a subject precedes a verb.

@ According to the passage, tense and aspect are systems that
7 give the verb formal identity.
4 provide the noun formal identity.
7 are only the indications for our choice of inflection.
I are to process our sequence of sentences.

@ If the situation occurs during the period of time up to and including the present, the best sentence
from the passage will be
[ F An artist lived in a gothic church. 4 The artist was living in a gothic church. ]
r7 Artists live in gothic churches. I Artists have lived in gothic churches.

® The main point of this passage can bhe
7 “Verbs are always needed to be marked by the word order.”
4 “Nouns are only the indication in the combination of words.”
»  “There are some systems for inflection, such as tense, aspect and the numbers.”
T “We specify whether the noun is singular or plural by the dual tense/aspect system.”
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[ LB TRVRNTA2EHEE ) :

#rf: | like sports. My favorite sport is baseball, so [ want to go to America. How about you?
4% Let’s see. | want to go to Australia.

##i: Oh, you want to go to Australia. ( 68EUE )?

458 | want to see koalas. They are cute.

#Af: [ see.  want to see them, too.
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